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Tabel 6.1    Pozitii de acord pentru T si SPC pe   DL1500,   Z = 50 Ω neinductiv.
	Frecventa
	1,85
SWR=1

RL=-46,1

Z=47,1

R=47,1

X=0
	3,65
SWR=1

RL=-46,1

Z=47,3

R=47,4

X=0
	7,1
SWR=1

RL=-46,1

Z=48,5

R=48,5

X=0
	10,1
SWR=1

RL=-46,1

Z=47,3

R=47,1

X=0
	14,2
SWR=1

RL=-46,1

Z=46,9

R=46,9

X=0
	18,15
SWR=1

RL=-46,1

Z=46,7

R=46,6

X=0
	21,2 SWR=1

RL=-46,1

Z=46,5

R=46,5

X=0
	24,95
SWR=1

RL=-40,1

Z=46,3

R=46,3

X=0
	28,5
SWR=1

RL=-36,6

Z=46,1
R=46,1
X=0

	T C1 div
	49
	45
	45
	45
	32
	18
	13
	15
	12

	T C2 div
	59
	55
	55
	55
	35
	19
	15
	14
	11

	T L spire
	31,00
	13,32
	5,375
	3,175
	2,29
	2,15
	2,0
	1,38
	1,275

	SPC C1 div
	45
	45
	45
	45
	38
	20
	16
	15
	12

	SPC C2 div
	50
	53
	55
	48
	35
	21
	16
	14
	11

	SPC L n.sp
	28,15
	12,00
	4,98
	2,35
	1,49
	1,50
	1,45
	0,98
	0,91


